Y

The choice of perfection

Spare Parts

Double injector ST-163

[fem-No. 200163389

Pos. Item-No. Description
1 040004200 Screw M10x12 ISO 4017 A2
2 040004225 Washer M10 DIN 9021 A2
3 130000340 Wheel 250mm ST-163 grey
4 130000350 Castor SS ST-163
5 040002155 Washer 12x6,4x1,6 ISO 7089 A2
6 040004240 Washer M6 DIN9021 A2
7 040004230 Nut M6 DIN 985 A2
8 040003553 Hand rail ST-163
9 040003552 Base plate ST-163
10 040003554 Cross beam ST-163
11 040004220 Screw M6x14 1SO 4014 A2
12 200163380 Screws+instruction ST-163

Repair-Kits

Pos.

[tem-No.

Description Pas.

[tem-No.

Description

*

Stand: 04




